‘ A STORY OF UNITS Lesson 16 Exit Ticket

Name Date

Destiny says, “l can use 5 x 4 to find the answer to 7 x 4.” Use the array below to explain Destiny’s strategy
using words and numbers.

Q000 We canthink of 7x4 3s meaning

Q000 o .
5x4 { Q000 T grovps of & . Tgrovps” is Sgrovps

Q000 \ /x4t  plus 2 groops. So Tgroups of 4 is
___________ equal +o Sgrovps of &4 plus Z more

244 16000 grovps of 4.

(7x4)=(5%x4)+(2x4)

.26 . 3
- 23
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M ATH.. facts.

This work is derived from Eureka Math ™ and licensed by Great Minds. ©2015 Great Minds. eureka-math.org
G3-M3-TE-13.0-05.2015



